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# AFFIL. TEAM SCORE

v13 4 811|0
vi4 4 850(0
v15 3  318|0
v16| g 3 378|0
v17 3  469|0
v18 3  552|0
v19 3  620|0
v20 3  655|0
v21 3  697|0
v22 3 716|0
v23 3 761|0
v24 2 200|0
v25 2 202|0
v26 2 222|0
v27 2 225|0
v28 2 249|0
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# AFFIL. TEAM SCORE A O B . C O D O E . F . G O H . | O J .

Toomer's Search 0 00 0 0 0 0 0 0 0
Trees

v @ = Morehouse #2 0 olo 0 0 0 0 0 0 0 0
v w »‘!‘ 0 olo 0 0 0 0 0 0
A
v | - = Protocol GaSou 0 00 0 0 0 0 0 0 0
=
v “' = 0 olo 0 0 0 0 0 0 0 0 0
.l
v “' = 0 olo 0 0 0 0 0 0 0 0 0
‘l

v 0 0(o 0 0 0 0 0 0 0 0 0
B
51 18/5 SUMMARY 137 5/1/ |160/12 [14/9/ |0/0/- |12/5/ |2/1/ |46/12/ |69/38/ [125/29 |92/30/
215 /21 116 127 268 72 11 /33 20
Categories Cell colours

GaTech

Solved

Untried




